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| |Bepasinchka 8 1 7 1 7 8
2 |BacuiiBcbka 7 2 5 1 5 1 7
3 |Beauko6inosepcbka 5 1 4 5 5
4  |BecediBchKka 4 1 3 2 2 3 1 1
5 |BinbHsIHCHKA 26 19 7 2 8 16 [ 16 | 10 5 10
6 |T'yasiinmiiibcbka 9 5 4 8 1 9
7 |3anopizbka 5 5 3 2 5
8 |K-/IninpoBchka 6 1 5 1 4 1 6
9 |KyiiouueBchbka 9 9 5 4 9
10 [MeaiTomonbchka 7 1 6 1 1 5 5 2 2 2
11 |MuxaitgiBcbka 14 7 6 1 6 7 1 12| 2 1 2
12 |HoBoMuHKOJAIBChKA 5 5 1 4 4 1 1 1
13 [OpixiBcbka 4 4 2 2 4
14 [IToJoriBcbka 7 1 6 1 6 7
15 |TIpua3oBchbka 5 1 4 1 3 1 5
16 [IIpumopcbka 9 4 5 6 2 1 6 3 3 3
17 |Po3iBchka 6 6 5 1 6
18 [Toxkmaubka 7 1 6 5 2 7
19 [YepniriBchka 6 3 3 3 2 1 6
20 [SIxumiBcbka 3 3 3 3
BCHOTI'O: 152 48 | 103 | 1 0 22 | 79 | 51 [ 133 | 19 12 0 19 0 0 0




